

## Proposal for Support to Saikripa-Balkutir

- A. Name of NGO (Implementing Agency):** SAIKRIPA
- B. Address of NGO:** Z-133/134, Sector-12, NOIDA-201301 (U.P.)
- C. Name of the Project:** Balkutir
- D. Address of the Project:** Z-133/134, Sector-12, NOIDA-201301 (U.P.) near Hotel Royal Paradise and Subji Mandi
- E. Vision and Mission statement:**  
Our Vision  
To make the underprivileged children self-sustained when they grow up.  
Our mission  
To provide an existence with dignity to the underprivileged children. SAIKRIPA's mission aims to enable the parentless children to earn not just their livelihood but also respect in society.
- F. Brief on Saikripa:**

Saikripa is a non-profit registered society functioning since 1988 in NOIDA for the welfare of the parentless and underprivileged children & youth of the Society.

Our main activities are:

- **Balkutir-** Five Homes for the children for different categories of age at Sector-12 Noida.
- **Sai Shiksha Sansthan-** a co-educational, English medium Secondary school with a strength of 420 children in the village Wazidpur Sector - 135, NOIDA about 15 KM away from Balkutir.
- **Sai Bal Sansar** - a free non formal education center for the street and slum children with a strength of around 220 children, having a separate unit for special children by the name of **Sai Vatsalya Vatika** at Village Agahpur Sector-41, NOIDA about 7KM away from Balkutir. Midday meal is also provided here.
- **Sai Vocational Training Centre** – To Impart training in Tailoring, Bakery, Beauty culture, Computer & Spoken English.

- G. Description of the Project for which Support is needed:**

**BALKUTIR:** On 27th February 1990 BALKUTIR formally opened its doors to children. It started with one child but now has grown for a capacity of 50 children for the age group 0-10 yrs. & 11-18 years of girls. BALKUTIR is set up not only to provide shelter and the basic needs of children, but also a Home to provide them with love and affection. It strives to give these children emotional as well as physical security. Co-curricular activities are taught to the children through classes in music, dance, and other arts on a regular basis. As in any family these children are also brought up till they grow into responsible independent individuals. Once they take up jobs and are confident of supporting themselves, they step out into the world with equal pride and confidence as children from any other family. They cherish their upbringing and do not find themselves lacking in any aspect while interacting with others. Saikripa arranges the wedding of the grown up girls after they become self-sustained.

**H. Targeted Beneficiaries:**

The beneficiaries will be around sixty children who are parentless and abandoned by the society.

**I. Need for the Project:**

These children need nutritious food for their proper growth and development in their physique and mental capabilities for enabling them to get education and absorb them without any difficulties and also for healthy living. Ultimately this will lead them to secure livelihood and stand on their own legs, thus leading a dignified life.

**J. Project Duration:**

The project is ongoing since last thirty years. The funds under this support will be utilized in the next financial year 2018-19.

**K. Outcome of the Support:**

The children coming out of Balkutir after their nurture and securing their own livelihood will add on to the society as honorable citizens and get into the development of the country.

**L. Approximate Budget:**

SI NO.	Particulars	Amount (Rs.)
1.	Milk per month (25000*12)	3,00,000
2.	Consumption of Fuel (10000*12)	1,20,000
3.	Mineral Water (7000*12)	84,000
4.	Curd (6000*12)	72,000
5.	Vegetable, Grocery, etc. (67035*12)	8,04,420
	<b>Total</b>	<b>13,80,420</b>

**M. Agencies Recognizing Saikripa:**



CREDIBILITY  
ALLIANCE



Charities Aid  
Foundation



**N. Documents**

Attached please find the following documents:

1. Societies Registration Certificate
2. MOA
3. 12 A of Income Tax
4. 80G Certificate
5. PAN
6. FCRA Certificate
7. Annual Report of last Financial years.
8. Auditor's Report of last financial years.
9. Accreditation Certificate for Due Diligence issued by Credibility Alliance and Charities Aid Foundation.

\*\*\*\*\*

